| A
3 N
PN\
NO JUMPER
QA
REV | NAME DATE DESCRIPTION DRAWN TJG

8' CROSS ARM

INSULATOR 15KV PIN TYPE
F-NECK POLY

BROOKS #44683
WOOD CROSSARM BRACE
25" HVY DUTY

CROSSARM & BRACE TO BE
RELOCATED 180°

FROM FRONT OF POLE,

TO BACK OF POLE

NEUTRAL
DOUBLE DEAD-ENDED

oate 10/20/22

CHKD -

APPA LINEMAN RODEO - 2023

APPRENTICE CROSS ARM RELOCATE

Sauar’
APPV -
s, 2aBPU
SHT 1 o 2

THE POWER OF COMMUNITY

DWG. NO.




ITEM | QTY. | STOCK NO. DESCRIPTION NOTE
a 2 0170037 PIN STEEL INS REG SHANK LINE
b 2 0170102 BOLT 3/8” x 4 1/2” GALV. MACHINE
c 1 0170108 BOLT 5/8” x 16 GALV. DBL ARMING
d 1 0170121 SCREW 1/2” x 5” GALV. LAG
e 6 0170124 WASHER 2” x 2" x 5/8" sQ.
f 1 0260008 ARM WOOD 3-1/2" x 4-1/2" x 8 6-PIN
g 2 0260016 BRACE 25” WOOD LT DUTY
h 2 0270034 INSULATOR 15KV PIN TYPE F—NECK POLY
i 2 NIS WASHER 3/8” GALV. ROUND

REV

NAME

DATE

DESCRIPTION

DRAWN TJG

oate 10/20/22

CHKD -

ENG
APPV -

APPA LINEMAN RODEO - 2023
APPRENTICE CROSS ARM RELOCATE

SCALE NTS

SHT 2 o 2

DWG. NO.

25 BPU

THE POWER OF COMMUNITY







	AP Cross Arm Relocate-DRAWING.pdf
	Sheets and Views
	DRAWING


	Apprentice Crossarm Relocate.pdf
	Insert from: "AP Cross Arm Relocate-DRAWING.pdf"
	Sheets and Views
	DRAWING


	Insert from: "AP Cross Arm Relocate-PARTS LIST.pdf"
	Sheets and Views
	PARTS LIST



